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4.

B ~M2em”D™14em-~

@ 14ecm @ 16cm @18(:111 @ 23cm ® 24cm

LA 9] o] 5EA ]E—i,_B:A_C:ﬁ:D_C
x:21=12:14

. x=18cm




5.

th 2¥olA AABC = AC = BC & o] 573 olch. BD = CD
o]1l /B =35° Y W], LACD 2] 27]=?

A

BLi82

@® 65° @)715° ® 85° @ 95° ® 105°

AABC oA

L/CAB = 35°

/BCA = 180° — 2 x 35° = 110°

T ABCD £ BD = CD ¢l o|5H#AdZHo|lng
/BCD = 35°

5 ZACD = 110° - 35° = 75°




6. T2 132 AABCO|A, AB =BC, AP = CP&tl &, x +y 9]
3717
A 95°
P
C
B 0
25
@ 125° @ 135° @ 145° (@)155° ® 165°
ol FHAZAGANA HR Y] o] RS WHS F-& o] FE 35}
og
y=190°

I AABP A HZHe] 9F2 180° 0|2
x=180°—(90° +25°) = 65°
. X+y=65°+90°=155°




7. o I™oA P =40° ¥ W, 2x o] 27]E? (T, AP = AB = BC
)

® 90° @ 95° @100° @ 105° ® 110°

B ~

AAPB + o] g HAIZI Yol B R
/P = /ABP = 40°

/BAC = 40° + 40° = 80°
AABC £ o] 3HAZGo| B R
(BAC = /BCA = 80°

o Lx = 180° — 80° = 100°




251 27
@ AB = BC o[t} 0
@) 1A + 2C = 180° ot B C

® /AOB = 90° o]t}
@ /AOD + /BOC = 180° o]t}
® AOLBD o|t},

1At zE e o] AAzZEE o] 5 7] 9alA= AB = BC °|AY, &
tjztio] M2 42 o] 5 Bat o]k,
SHAITF /A + £C = 180° & X7do] ofUth.




9. S I"HAAL/m [fn D, y-x] F27

®15 @2 ®25 @3 ® 35

B

1 //m //no]BE AD:DB = AE:EC
5:x=4:8

Sox=10
ulz7}2 2 AE : AC = DE : BC
4:12=4:y

SLoy=12

SLYy—x=2




10. thg 73} 2o] AD//BC < Althel® ABCDOIA BF//BC < 1,
v,y © L& 727 512

@x=3,y:2 @ x=4,y=2 ® x=5y=2
@ x=4,y=1 ® x=35y=2

AE:EG=AB:BC°E22:x=6:9, x=3
CD:CF=AD:FGOo|E26:4=3:y, y=2
Lx=3,y=2




11.

oS 8o AB//EF//DCo]|Z2 AB:CD=4:19 uf], EF : AB

=9

A

D1:4 @1;5 ® 2:5 @ 5:2 ® 5:1

AB:CD=4:1°|E2 AE:EC=4:1°]t}. CE:AC=1:5
°]11 AB//EF |22 EF : AB =1: 59]|t}.




12. o2 2"olA aABC O ZF W o] F3& o]o] THE ADEF © &9
Zo]7} 20em & W], AABC ¢] 9] Zol=?

A

vy
Q

@ 30cm @ 32cm ® 36cm @40cm ® 48cm




sholat,

27

ol W& th& 1Y} go] Hole w, 1x o 27]

=
5

13.

65

® 67°

@ 65°

I
)

<
7
\

AB5®
w2tA zx = 180° — 65° X 2

50°




14.

@ 45°,3cm @ 45°,5cm @55 ° 3cm

@ 55°,5cm ® 60°,3cm

B

£C =110°, «EDC = 35°, /DEC = 180° - 110° - 35° = 35°

o},
/DEC = /CDE ©°]2l, CE=CD =5°/E2BE =8-5 =
3(cm) o]t}

(FDA = 35° ©]1, /DAF = 55° °|B2 /BAF = 110 - 55 =
55° ©|t}.




15. [ |l 5ol £5 eAdR v 41 AL?

15cm & of,

250A'B’C’D’ = 90ABCD & W=E3St= 5 ALY gA’B'C’D’
Jhmmmﬂ%q = @9 geH| Jolx, BC

B'C 9 dolE [ Jem, AD = 12em & u,

D ©) 2ol | JemE mEa

@ 1:4,8, 10 @ 3:5, 8, 20 @)3:5. 9, 20

@ 5:3,9, 10 ® 5:3,9, 20

B

oA’'B’C’'D’ :
ojrt.
B’C’ =15 %

rr

OABCD = 9: 25 0|22 &F 3 9] troH|

3:

5




16. & A AD :DB=2:5 < ufj, EC

o] ol Fahw?

@ 25cm @26cm

@ 28cm ® 29cm

® 27cm

~&B

AABE @ ACBD(AAS-S)
AB:CB =BE:BD

BD = 28 x g = 20(cm)

28 : 40 = BE : 20
BE = 14(cm)
- EC = 40 — 14 = 26(cm)




17. o2 23 2ol AD 7} A 9 91ZFe] o] 524 0]1 AACD 2] Ylol7}
36cm? ¥ W], AABC 9] {ol&=?

D) 18cm? @ 24cm? @ 28cm?

@ 32cm? ® 36cm?

B \
AD7} /A 9] o] 5 EAM0|EZ 6:4=DB:10.. BD = 15(cm)
o2tA BC = 5cm, BC: CD =1: 2
AABC 9} AACD & =o]7} Zt31 W o] H|7} 1 :2 o] 2 & Yo]
H|L 1:2 7} Ho

36

- AABC = %AACD === 18(cm?)




18. o2 2"HoNA ¢//m//n, AP : PC' =3 : 4
Ao, x,y o Zol=?

3
16 14
@x:5,y:§ @x:6,y=§

AP:PC'=3:40]E&
14:x=7:3,x=6
16

4:y:3:4,y:€




19.

th2 199 nABCD o4 AD//EF//BC, AE : EB = 2 : 3 ©]1,
AD = 6cm , BC = 15em ¢ o, PQ ] ZoJ&?

12 1 24
@) gcm @ ggcm ©) Ecm
@ —cm ® 6cm

AABC oA AABCOAAEQ ©|E2 EQ:15=2:5, EQ =
6(cm)
AABD ©|A] AABDAEBP ©|E2 EP : 6 =3:5, EP =
1
;(cm)

- 1 12
PQ:EQ—EP:6—€8:g(cm)




20.

oS 1Ol AABCOAAD : DB =3: 4, BE : A

EC=4:3 CF:FA =4:30°]t}. FP =

4cm, PC = 7cm € w], DP 9PE 2] Zo]9] D F

A2 Ftolel. h\
B Ec

® 2cm @ 2.5cm (@)?mm

@ 35cm ® 4cm

B

DF //BC, DE //AC o2&
ODECF = B 3ArA g o]t
DP =PC =7cm
PE=FP =4cm
DP-PE=7-4=3(cm)




